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Xt(t = m, . . . , n) �� At(t = m+ 1, . . . , n) �������� �
 �����
� ��� ����
��� ��������

��������	 �� 4��5��6�
� l = xmam+1xm+1 . . . atxt ��7���5���� 89��6�: ��;6
t = n �<6 xt = x∗�

������� � �� �������� ��!��� "���������
�� L = X × (A×X)n−m�

��������	 �� =<������ ���6����� ����6������ ��6>��6� �� 
������9
 ?���
[m,n] 5 (X,A, j, p, q, r, c, μ) ≡ Z∗

μ: @�A

�B X =
n⋃

t=m
Xt  ��6��
� ����
�C

�B A =
n⋃

t=m+1
At  ��6��
� ��������C

	B �
@6<��D���� ��6��������� j : A→ X: @� j(At+1) = Xt\{x∗}, x∗ ∈ XtC

B �67�6@
9 E�6�
��6���E p(·|a) ≡ P(xt = x|at = axt−1) �� Xt 7 6<�������

�6?���� P(xt+1 = x∗ | at = a) = P( xt+1 = xm | at = a) ≡ p(x∗ |a) ≥ 0;
FB G���>
� ����H6�6@� q : A→ RC
IB G
��9��� �9��� r : Xn → RC

�© ���� ��� 	
���
 ��� ����
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�B G���>
� ����� c: 7�@��� � 6<������ �6?��� ����
�

c(x) =

⎧⎨
⎩

−
t∑

i=m+1

sup
ai∈Ai

q(ai), x = x∗,

0, x �= x∗,

x ∈ Xt: x
∗  6<����� �6?��� J���>
� ����� 7�@��� ���: ;6 H������5 �6���

<���������6  �6��� ������ ���6��?��6H6 ���
��9� �<6 E <
9�8�C
�B �6?���6��E �67�6@
9 μ �� Xm� K�;6 �6?���6��E �67�6@
9 μ 76����@D���E

� �6?>
 x: �6 <�@��6 ������ Z∗
x�

#$�%
 � &� ���������!' (�)*+ ���������
�� ���
��, � "���������
�� Z∗� 	�-
�� �
�� ) ���
��  "� �� .
$�����!� �� !.�/� ��. �����'�� ! ���
������
  "�������!
�%��.� ��!�� l

I(l) =

⎧⎪⎪⎨
⎪⎪⎩

n∑
t=m+1

q(at) + r(xn), ∀t xt �= x∗,

k∑
t=m+1

q(at) + c(xk), xk = x∗.
(�+

�� ���
��� ���
���� ����
����� ��
���
 ��	 ��������
� �
������

0.&� ������ "
$
����� 1��.%�! p(· |a) �  �$��
/�2 π(· |h )� �� .������ "����.�����
$��"����� μ ���"�����' $��"���� 
����$�� �

 P ∗ �� "$� ��$� L� !.�
 ������' ��.�/�
��/�!��3

P ∗(l) =
{
μ(xm)π(am+1 |xm)p(xm+1 |am+1)...π(an |hn−1)p(xn |an) , ∀t xt �= x∗

μ(xm)π(am+1 |xm)p(xm+1 |am+1)...π(ak |hk−1)p(x
∗
k |ak) , xk = x.

(�+

���
������
  "�������! ����-!.�2 1��.%�2 ξ � "$� ��$� L �����
 ��.�/� ��/�!��3

E∗(ξ) =
∑
l∈L

ξ(l)P ∗(l). (4+

#$�.����� ��.�2 1��.%�2 ' �%��.� (�+ ��!�� l� 52 ���
������
  "�������! "��������
�
$
� ω

ω = EI(l). (6+

��
���� �� L���E {πk}  ��
�?����E �<6 79
?����E ��<
� 6<������ ������H
E 
 γk  
���
@M5��
 ?��9�: ���� ���� @6�
��N5 �� K�;6 @9� <�@����6H6 �6?���6�6H6 �67�6@
9�
μ <�@��6 ���6����6������ 6<����� ������H
N πk 7 E�6�
��
��N γk: �6 6�����5�6
� ��6��6�
 89��
� L �67�6@
9 E�6�
��6���E P ∗: ���E ��<���5 ��H9�@�

P ∗ =
∑
k

γkP
∗
k , (�+

@� �67�6@
9 P ∗
k �
@�6�
@�5 6<����
E ������H
O πk�

46@
 
���5 6<����� ������H
� π: ��
E �
@�6�
@�5 �67�6@
9 E�6�
��6���E P ∗ 7
PFB�

Q����D���� �� 7��
� "$� ���������� ����������  �$��
/�
 (����$�  �$��
/�
 ��-
"��.��� � ��������� $��"������ 
����$�� �

+ �� �
 $����$���  ��2 ������� ��� �
��$���'�� &
 �
!.�  �$��
/�,� !.� ' .������%�', ������



#$%&'() *+%#',() -,%*#'./*) 0%#1+.& !!!
���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ �� !"$

7 .���.� ��$����  �$��
/�! π �"� �'�� !  .���
���� ����$�� �
���8'���� ��-
 
� π (a |h )� 	���$�� !.� ����,��  �$��
/�,� ����$,,�� ���.���� ���
�
�� �������
Π �  .���
�������$���� "$� ��$�� 7��
� Π ) .��"�.�� 9��.%�! ω(π) �
"
$
$���� ��
��$���'�� ! �
$
� π (a |h) �� ��"���/�, �"
$�%�
 ����
��! �� ��������!� :� �
�-
$
��, ;


$��$�  �� �
"
$
$��� 1��.%�! �� Π �� !/�'  ��/� ��. ������ 7�$����
 �$��
/�!� "$� !.�
 �� !/�'�� ! ��. ����� ' �"��������, ��! "$�%
 � Z∗� : ����/�
��.�� "$� .������ x ∈ Xm � ��' ��$����  �$��
/�! πx� �"�������� ��! "$�%
 � Z∗

x�
:� ����$�� ��$�����  �$��
/�
 πx ���
�� "��������� ��$����  �$��
/�, π�

�"�������� ��! ���
�� Z∗�
#$�$���� .�$� ������ ! "� ��
��  �$��
/�', πx� !.&� ��!� "�����'�� ! � ���-

%� x� 9�$������
π (· |h ) = πx(h) (· |h) , (<+

�
 x(h) ) "����.���
  ��� � ��$�2 h� :�� ��� &� 1�$���� (<+ �������' �
!.�  �$��
/�,
π� !.� ���
 �"��������,� ����� ω(x, π) = ω(x, πx) = υ(x), ∀x ∈ Xm�

��
���� �� R�@����� 6<����� ������H
� π: 7�@��� G6���96N PIB: @9� ��6O

ω(x, π) = υ(x), x ∈ Xm (*+

5 �
��6�
��6 6�����9��6N: �6<�6 ∀μ sup
π
ω(μ, π) = ω(μ, π)�

S6��@����� : 1�$��� (�+)(6+ ��"����'� &� ∀π
ω(μ, π) =

∑
l∈L

I(l)P ∗(l) =
∑
Xm

μ (x)ω (x, μ). (=+

:�.$
��� ω (μ, π) =
∑
Xm

μ(x)ω(x, π)�

>�
 ω (x, π) ≤ ω (x, π) , ∀x ∈ Xm� � ���
� ω(μ, π) ≤ ω(μ, π)� �

������
� �� S9� �
��6�
��6 6�����9��6O 6<����6O ������H
O π 
 @6�
9��6H6 �6�
?���6�6H6 �67�6@
9� μ

ω (μ) =
∑
Xm

μ(x)υ(x) = μυ. (�+

��
���� �� �����@D�5���� ���� �
������

ω(x, π) =
∑
A(x)

π(a |x)(q(a) + ω′(pa, πa)), (�?+

@� pa = p(· |a), πa (· |h′ ) = π(· |yah′) : a ∈ Am+1: y = j(a): h  
��6�
� � �6@�9
 Z ′∗�
T
������ P��B ��7���5���� G��@������9���� 
 ����D�5 6>
��� ω @6�
9��6O �����
��H
O π � �6@�9
 Z∗ ?���7 6>
��� ω′ @����� ������H
E � �6@�9
 Z ′∗�

S6��@����� :/���� � 1�$����, (=+ ��$���'��

ω′(pa, πa) =
∑
Xm+1

p(y |a)ω′(y, πa). (��+

@��/�!�
�� "$� ��$� ��!��� L �� L′ � ���
�!� Z∗ �� Z ′∗� 	
��
 P ∗ ) $��"����

����$�� �

 � L� !.�
 ���"�����' "����.�����  ���� x �  �$��
/�2 x� P ∗

a ) $��"����

����$�� �

 � L′� !.�
 ���"�����' "����.����� $��"����� pa �  �$��
/�2 πa�
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� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

:/���� � 1�$����, (�+ � (�+ ∀l′ ∈ L′ ��$���'��

I(xal′) = q(a) + I(l′) (��+

P ∗(xal′) = π(a |x)P ∗
a (l′). (�4+

	� "�� ���� (4+ � (6+ ��
$��'��

ω(x, π) =
∑
L

P ∗(l)I(l) (�6+

ω′(pa, πa) =
∑
L′
P ∗
a (l

′)I(l′). (��+

��$� P ∗(l) �
 ��$���,' ���, ����.� ��! ��!���� !.� "�����,�� ! � ���.� x� �����
��! ��!��� ��/�!�� xal′� A���� "�� ����!,�� � (�6+ ����
��! I(l) � (��+ �� P ∗(l) �
(�4+ � �$�����,�� (��+� ��$���'�� 1�����
������
 $���!��! (�?+� �

: 1�����
�������/� $���!��! (�?+ ��"����' ��.� �%��.�3

ω(x, π) ≤ sup
A(x)

[q(a) + ω′(pa, πa)] ≤ sup
A(x)

[q(a) + υ′(pa)] (�<+

∀x ∈ Xm � ∀π (υ′ ) �%��.� ���
�� Z ′∗+� #��������

u(a) = q(a) + υ′(pa), (a ∈ Am+1). (�*+

B��
�� �������� %, �
������ ) �%��.�, .
$�����! a�
:/���� � (�+ � $���� �, υ(x∗) = c(x∗) ��$���'�� u = Uυ′� �
 �"
$���$ U "
$
��-

���� 1��.%�2 �� ���.�� (�
 ��$�����+ � 1��.%�2 �� .
$�����!� �� ��.�, 1�$����,3

Uf(a) = q(a) +
∑
y

p(y |a)f(y)+p(y∗ |a)f(y∗) , (�=+

�
 y ) �
��$���� ���.�� y∗ ) ��$���� ���.��
;�
�
�� &
 �"
$���$ V � !.�
 "
$
������ 1��.%�2 �� .
$�����!� � 1��.%�2 ��

���.�� (�
 1�������� �� �
 ��$�����+ ��.3

V g(x) = sup
a∈A(x)

q(a). (��+

:�"��
�� �
$���� �� (�<+� ��.�$� ����,�� �"
$���$ V : ω(x, π) ≤ V u(x)� A
"
$
�����
�� sup

π
��� ����2 �� "$���2 �� ���� 
 ��$���'�� υ ≤ V u�

��
����  � L���E π = γπ′  @6<��6� 6<������ ������H
E γ �� π′� K�;6 π′ �
��6�
�
��6 6�����9��� @9� �6@�9
 Z ′∗: �6@


u = V u. (�?+

S6��@����� ��! �����.�  �$��
/�
 1�����
������
 $���!��! (�?+ �����
 ��.�/�
��/�!��3

ω(x, γπ′) =
∑
A(x)

γ(a |x) u(a). (��+

7 .���.� π′ ) $������$�� �"�������� (� ���� � ��' �/���� � �
�$
��, �+� ��
ω′(pa, π′) = υ(pa)� � �/���� � ��/�!��� 1��.%�2 u $���!��! (��+ "
$
���$,'�� ! �

ω(x, γπ′) =
∑
A(x)

γ(a |x) u(a). (��+
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� �
���� ���
�� ������ ���
� ��������� ���	� ������ �� !"&

0.&� ��! .����/� x $��"���� γ(· |x ) �� 
$
��
��
 �� A(x) ⊂ A(x)� �
 1��.%�!
u(a) (a ∈ A(x)) �� !/�'  ��/� ��. ������ �� %
 $���!��! �����
 ��.�/� ��/�!��3

ω(x, γπ′) = V u(x), (x ∈ Xm). (�4+

�

������
� �� =>
��� υ �6@�9
 Z∗ ����D�5���� ?���7 6>
��� υ′ �6@�9
 Z ′∗ ������
G6���9���A

υ = V u,
u = Uυ′, (�6+

@� 6�����6�� U �� V 7�@��
 G6���9��� P��B �� P�UB: �
@�6�
@�6�

������
� �� ����5 ��9���6� ψ <�H��67��?�6H6 �
@6<��D���� A(x) : Xm → Am+1

u(ψ(x)) = υ(x). (��+

S6��@����� :� γ(· |x) ����� "$�
�!�� $��"����� �� 
$
��
��
 � ����
 ���%�
ψ(x) ∈ A(x)� �

������
�  � K�;6 π′ �
��6�
��6 6�����9��� @9� �6@�9
 Z ′∗ 
 ��9���6� ψ  ����E:
�� � L��9
@�� 	: �6 6<����� ������H
� ψπ′  �
��6�
��6 6�����9��� @9� ��6>���
Z∗�

	
 ���
��,�� ��/����� ��� ����� �������� &� � %�
 ���
�� Z∗ m = 0� @��-
/�!�
�� ���
�� Z∗

0 , Z
∗
1 , ...Z

∗
n� �
 Z

∗ = Z∗
0 � Z∗

t ) "������ ���
�� ��� Z∗
t−1� 7%��.� υ

�� u ���
�� Z∗
t "�������� υt � ut+1� ���"������ (υt ������
�� �� Xt� ut+1 ������
-

�� �� At+1+� 9��.%�, ����/�$��� q � "
$
����� 1��.%�, p �� At "�������� qt � pt�
���"�������

:/���� � "�"
$
����� $
���������� �%��.� υt � ut "��8!���� ���  ���, ��.���
 "��������
��!��3

υt−1 = V ut
ut = Uυt

(1 ≤ t ≤ n), (�<+

�
 Utf(a) = qt(a) +
∑
y∈Xt

pt(y |a)f(y)+pt(y∗ |a)c(y∗) � (a ∈ At� y∗ ∈ Xt)�

Vtg(x) = sup
A(x)

g(a)� (x ∈ Xt−1+� "$����� υn = r�

@���� �� (�<+ ������,�� ! $���!��!�� �"�������� ��� #$�
�
�� Tt = VtUt� ����
$���!��! �"�������� �� ��"��
�� � ��/�!��

υt−1 = Ttυt. (�*+

��
���� !� L���E π  @6�
9��� 6<����� ������H
� � �6�
@�
E �6@�9
 Z∗
k

(k = 1, 2, ...n) 
 ψt  @6�
9��
 ��9���6�� <�H��67��?�6H6 �
@6<��D���� A(x) :
Xt−1 → At (t = 1, 2, ...k): �6@
A

ω0(x, ψ1ψ2...ψkπ) = Tψ1Tψ2 ...Tψk
ω(x, π). (�=+

S6��@����� ;�"����' � 1�����
�������/� $���!��! (�?+� 1�$��� (��+� (�*+ � �
����
���
�������2 ����.%�2� �
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�� ���
��� ���
���� ����
����� ��
���
 ��	 �������
� �
������ ��!
����
���� ���
�

 �"��������  �$��
/�2 ������ �
 � ������� ���� ������� ! "��!��!
ε-�"�������� ���

��������	 �� =<����� ������H
� π ��7���5���� ε�6�����9��6N @9� ��6>��� Z∗
μ:

��;6 ω(μ, π) ≥ υ(μ)− ε�

��������	  � =<����� ������H
� π ��7���5���� �
��6�
��6 ε�6�����9��6N �<6
ε�6�����9��6N @9� �6@�9
 Z∗: ��;6 π�ε�6�����9��� @9� Z∗

μ 
 <�@����6H6 μ  �6�
?���6�6H6 �67�6@
9��

���� �8! �'��� !. $
�������� ��!  .���
���� ���
�

 � �"����������  �$��
-
/�!�� "
$
�� !�� ! �� ����
��� ���
�� � ε-�"����������  �$��
/�!���

	
��
 πx-ε-�"��������  �$��
/�! ��! "$�%
 � Z∗
x� ;��� � ��' �� �����
��!�

�
$����2 /$����
:� ����$�� ��$�����  �$��
/�
 πx ����� ���
�� "��������� ���� ��$����  �$�-

�
/�, π� ε-�"�������� ��! ���
���
���
�
��� &� 1�$���� (<+ �������' �
!.�  �$��
/�, π� !.� ���
 ε-�"��������,�

����� ω(x, π) = ω (x, πx) ≥ υ(x)− ε, ∀x ∈ Xm�

��
���� "� R�@����� 6<����� ������H
� π: 7�@��� G6���96N PIB: @9� ��6O

ω(x, π) ≥ υ(x)− ε, (x ∈ Xm) (��+

�
��6�
��6 ε�6�����9���: �6<�6 ∀μ sup
π
ω(μ, π) ≤ ω(μ, π) + ε�

S6��@����� : 1�$��� (�+)(6+ ��"����'� &� ∀π
ω(μ, π) =

∑
l∈L

I(l)P ∗(l) =
∑
Xm

μ(x)ω(x, π). (4?+

:��� � ��$���'��

ω(μ, π) =
∑
Xm

μ(x)ω(x, π) ≤
∑
Xm

μ(x)υ(x) ≤
∑
Xm

μ(x)[ω(x, π) + ε] = ω(μ, π) + ε. (4�+

: ��$�����2 �
$���� �� ��"����'3

sup
π
ω(μ, π) ≤

∑
Xm

μ(x)υ(x), (4�+

ω(μ, π) ≥
∑
Xm

μ(x)υ(x)− ε. (44+

: 1�$��� (4�+ � (44+ ��$���'��

sup
π
ω(μ, π) ≤

∑
Xm

μ(x)υ(x) ≤ ω(μ, π) + ε. (46+

7��
�  �$��
/�! π $������$�� ε-�"��������� 7 .���.� %
 ���
�
��! ���
�� "$��
 -
�� ��! ∀ε� �� sup

π
ω(μ, π) =

∑
Xm

μ(x)υ(x) = μυ� �

������
� !� S9� @6�
9��6H6 �6?���6�6H6 �67�6@
9� μ

υ(μ) = μυ. (4�+
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Q����D���� �� :��������� &� 1�����
������
 $���!��! "$������
 � ��! ����
����
���
�

 �
� ���� � ���
�
����

��
���� #� L���E π = γπ′  @6<��6� 6<������ ������H
E γ �� π′� K�;6 π′ �
��6�
�
��6 ε′�6�����9��� @9� �6@�9
 Z ′∗: �6@


υ = V u. (4<+

S6��@����� ��! �����.�  �$��
/�
 γπ′ 1�����
������
 $���!��! (�?+ �����
 ��.�/�
��/�!��3

ω(x, γπ′) =
∑
A(x)

γ(a |x)(q(a) + ω′(pa, π′)). (4*+

7 .���.� π′ ) $������$�� ε′-�"�������� (� ���� � ��' ∀ε′ > 0 �/���� � �
�$
��, �+� ��
ω′(pa, π′) ≥ υ′(pa)− ε′ � �/���� � ��/�!��� 1��.%�2 u $���!��! (4*+ "
$
���$,'�� ! �

ω(x, γπ′0 ≥
∑
A(x)

γ(a |x)u(a)− ε′. (4=+

@��/�!�
�� ������� Aχ(x) = {a : a ∈ A(x), u(a) ≥ V u(x) − χ} (x ∈ Xm)� !.� �

"�$���! ��! ����-!.�/� χ > 0� 	
��
 γ(· |x) ��������
 $��"���� 
����$�� �

 ��
A(x)� �� 
$
��
��
 �� Aχ(x)� A���

∑
A(x)

γ(a |x)u(a) ≥ V u(x)− χ�

#$� ε′ + χ ≤ ε
ω(x, π) ≥ V u(x)− ε (x ∈ Xm). (4�+

�

������
� "� =>
��� υ �6@�9
 Z∗ ����D�5���� ?���7 6>
��� υ′ �6@�9
 Z ′∗ ������
G6���9���A

υ = V u,
u = Uυ′, (6?+

@� 6�����6�� U �� V 7�@��
 G6���9��� P��B �� P�UB�

������
� #� S9� <�@����6H6 χ > 0 
���5 ��9���6� ψ <�H��67��?�6H6 �
@6<��D����
A(x) : Xm → Am+1

u(ψ(x)) ≥ υ(x) − χ. (6�+

Q� γ(· |x) �6D�� ���E���� �67�6@
9: 76����@D���E � 6@�
E �6?>
 ψ(x) ∈ Aχ(x)�

������
� $� L���E ε′ 
 χ  @6�
9��
 ���
@M5��
 ?��9�� K�;6 π′ �
��6�
��6 ε′�6����
��9��� @9� �6@�9
 Z ′∗ 
 ��9���6� ψ  ����E: �� � ���9
@�� �: �6 6<����� ������H
�
ψπ′  �
��6�
��6 (ε′ + χ)�6�����9��� @9� �6@�9
 Z∗�

��
���� $� S9� G
��6���6H6 �6?���6�6H6 �67�6@
9� μ �� @9� @6�
9��6O 6<����6O
������H
O π 
���5 ��6��� ������H
� ϕ

ω(μ, π) ≤ ω(μ, ϕ). (6�+

���
�
��! %�'2 �
�$
�� ��"����' � ��.�� ���� �
�$
��

��
���� %� ∀μ 
 @9� <�@����6O 6<����6O ������H
O π 
���5 ����6����� ������H
� σ
���� ;6A

ω(μ, σ) = ω(μ, π). (64+
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���� ���
�� ������ ���
� ��������� ���	� ������ ��

S6��@����� @��/�!�
�� ��$.�� �.�  �$��
/�, σ

σ(a |x ) = P∗{at = a | xt−1 = x} =
P∗{xt−1at = xa}
P∗{xt−1 = x} (66+

(a ∈ At, x ∈ Xt−1, m+ 1 ≤ t ≤ n),

�
 P∗ ) ��$� � "$� ��$� ��!��� L� !.� ���"�����' "����.����� $��"����� μ ��  �$��
/�2
π�

0.&� � "$���
 �� ���� 1�$���� (66+ "$� P∗{xt−1 = x} = 0 ���� ��$�� ��$���'
��� �� ��! ��.�� x(��.$
�� ��$�����+ �� σ(· |x ) ����� ���$��� ��������
 $��"����
�� A(x)�

#�������� �
$
� Q∗ ) $��"���� 
����$�� �

 � "$� ��$� L� &� ���"�����' "�-
���.����� $��"����� μ �� ��$����
 ��$.�� �.�
  �$��
/�2 σ� ; ��/������� ��"��.�
$��"���� Q∗ �
 ���/�'�� ! � $��"������ P∗� ��
 ��! ���
�
��! (64+ �� ������� &��
.��
� �� 
�
�
���� xm, ..., xn, am+1, .., an �� x∗m+1, ...x

∗
n ��� ����.���
 $��"���� 
��-

��$�� �

  �� ���� ��$ P∗ �� Q∗� C
 ��"����' � ��.�� ���� $���� �

3

ω(μ, π) =

n∑
t=m+1

P∗q(at)+
n∑

t=m+1

P∗c(x∗t )+P∗r(xn) (6�+

ω(μ, σ) =

n∑
t=m+1

Q∗q(at)+
n∑

t=m+1

Q∗c(x∗t )+Q∗r(xn). (6<+

�������� ���
�� �� ����.%�',�
A�
$��
��! "$������
 ��! xm� �� $��"���� ��! ���/�

P∗ = Q∗ = μ.

#$�"� ����� &� ��
$��
��! ��.���'�� ! ��! xt−1� #
$
��$��� %
 ��! at� 7 .���.�
��$����  �$��
/�! σ ) ��$.�� �.�� ��

Q∗{xt−1at = xa} = Q∗{xt−1 = x}σ(a |x), (a ∈ At, x ∈ Xt−1). (6*+

A��� � (66+ �� (6*+ ��$���'�� ��.
3

P∗{at = a} =
∑

x∈Xt−1

P∗{xt−1at = xa} =
∑

x∈Xt−1

P∗{xt−1 = x}σ(a |x) =
=

∑
x∈Xt−1

Q∗{xt−1 = x}σ(a |x) = ∑
x∈Xt−1

Q∗{xt−1at = xa} = Q∗{at = a}. (6=+

7��
� ���
 ��
$��
��! "$������
 ��! at� ���
�
�� �
"
$ ��.
3 !.&� ���� "$�-
�����
 ��! at� �� 
 ��.���'�� ! ��! xt�

:� �����
��!� "
$
�����2 1��.%�2

P∗{atxt = ax} = P∗{at = a}p(x |a ), (6�+

Q∗{atxt = ax} = Q∗{at = a}p(x |a ). (�?+

;��$��� � (6�+ � (�?+ ��$���'��

P∗{xt = x} =
∑

x∈Xt−1

P∗{atxt = ax} =
∑

x∈Xt−1

P∗{at = a}p(x |a ) =
=

∑
x∈Xt−1

Q∗{at = a}p(x |a ) = ∑
x∈Xt−1

Q∗{atxt = ax} = Q∗{xt = x}. (��+

�
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���� ���
�� ������ ���
� ��������� ���	� ������ �� !")

&��� �� L���E f  @6�
9��� G���>
� 
 υ  @6�
9���E �67�6@
9 E�6�
��6���E ��
79
?���6�� ��6��6�
 E� K�;6 υf < +∞: �6 ��6D��� Γ = {x : f(x) ≥ υf} ��5
@6@���� �
�� υ: �6<�6 υ(Γ) > 0�

��
���� �'� S9� <�@����6O ����6����6O ������H
O σ 
���5 ��6��� ������H
� ϕ
���� ;6A

ω(μ, ϕ) ≥ ω(μ, σ). (��+

S6��@����� :/���� � (4?+ ����� (��+ $���� �����

ω(x, ϕ) ≥ ω(x, σ), ∀x ∈ Xm. (�4+

@��.���
�� ��$���� ��$.�� �.�  �$��
/�, σ � ������.  �$��
/�
 σ = γσ′� �
 γ )
����
��! σ �� Xm� � σ′ ) ����
��! σ � �� Xm+1

⋃
Xm+2...

⋃
Xn� :/���� � 1����-

�
�������� $���!��!� (�?+
ω(x, σ) = γxf, (�6+

�
 γx(·) = γ(· |x) ) $��"���� 
����$�� �

 �� A(x)� � f(a) = q(a) + ω′(pa, σ′)�
(a ∈ Am+1)�

:� �
��, � "��������� A(x)� ��! !.�2 f(a) ≥ γxf = ω(x, σ)� ��' ������,
��$� γx� � ���
� ' �
"�$�����,� 0.&� ψ(x) ) �������� ���.� %�'2 "���������� ��
f(ψ(x)) ≥ ω(x, σ)� 	� "�� ���� 1�����
�������/� $���!��! (�?+� f(ψ(x)) = ω(x, ψσ′)�
� ���
� ω(x, ψσ′) ≥ ω(x, σ)�

#$�"� ����� &� ����� (��+ "$������� ��! "������2 ���
�� Z ′∗� ���� � %�
 ���
��
���
�
�� ! "$� ��  �$��
/�! ϕ′� !.� $������$�� ����$�' ��$���� ��$.�� �.�  �$�-
�
/�, σ′� : 1�����
�������/� $���!��! (�?+ �� �$���
��/� "$�"�&
��! ��$���'��

ω(x, ψϕ′) = q(ψ(x))+ω′(pψ(x), ϕ′) ≥ q(ψ(x))+ω′(pψ(x), σ′) = ω(x, ψσ′) ≥ ω(x, σ). (��+

7��
� � ���
�� Z∗ "$� ��  �$��
/�! ϕ = ψϕ′ $������$�� ����$�' σ ��.� &� $
�������
(��+ ' "$�������
 � ��! ���
�� Z∗� �

������ �������	
��� 
�	��
	���

2! ./	��	 0�1� 3������
�4
 ���������
 ����
��4 � �� �����5
��� 60�1� ./	��	�

2�2� 34����- 7 -!8 (����� 29:;! 7 <<= �!
>! 5
��
6 7�8� #�����
 �
�����
 ���������
 ����
�� �� ��
��
����� 
��
����
 ���� ���

��
��
���� ���
�
	 6 7�8� 5
��
6� 9��� :
���� 66 '
��! ?��
�! �����! .
�! �
�!����! 7
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������A ��@
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BC DECFCGH GCI JDDEKJLM HK DEKNJN
O
HP QCJFREC KG HMC FDJLC KS DJHMF�
ECTCUGCT LKGLCDH KS DJHMF JGT LEJFM SRGLH
KG! VKEECLHGCFF KS TCUG
H
KGF JGT
CW
FHCGLC KS KDH
QJO� RG
SKEQOP KDH
QJO� ε�KDH
QJO JGT RG
SKEQOP ε�KDH
QJO
FHEJHCX
CF RGTCE HMC GCI DEKNJN
O
HP QCJFREC 
F FMKIG! YRZL
CGH KS F
QDOC
FHEJHCX
CF 
G UG
HC JGT LKRGHJNOC QKTCOF 
F DEK[CT!

E�A F*#G$! \
OOCT ]JE\K[ TCF
F
KG DEKLCFF� KDH
QJO FHEJHCXP� ε�KDH
QJO
FHEJHCXP� RG
SKEQOP ε�KDH
QJO FHEJHCXP!
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